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PAPER -1

Note : ¢ This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.

* Candidate is expected to answer any Fifty (50) questions.

* In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions
will be evaluated.

1.  Which of the following is the highest level of cognitive ability ?
(1) Knowing (2) Understanding (3) Analysing (4) Evaluating

2. Which of the following factors does not impact teaching ?
(1) Teacher’s knowledge
(2) Class room activities that encourage learning
(3)  Socio-economic background of teachers and students
(4)

Learning through experience

3.  Which of the following statements about teaching aids are correct ?
(a) They help in retaining concepts for longer duration.
(b)  They help students learn better.
() They make teaching learning process interesting.
(d) They enhance rote learning.

Select the correct answer from the codes given below :

(1) (@) (b) (c) and (d) (2)  (a) (b) and (c)
(3)  (b), (c) and (d) 4)  (a) (b) and (d)
4.  Techniques used by a teacher to teach include :

(a) Lecture

(b) Interactive lecture
() Group work

(d) Self study

Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2)  (a), (b), (c) and (d)
() (b), (c) and (d) 4)  (a) (b) and (d)
oo [N TINR 2
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fder: o T TvEYA § WIS (60) TE-fawedd U €1 Tw Y9 F a (2) 3 ¥
o S7egefl 1 H/IF WY TR (50) T F SR A T |
o Ifc ToImE (50) W A e % S A O wum v (50) YA & S WA |

1. fr=rifed & @ 99 gremdt G S 3w TS 2
(1) S (2) HHS (@) fowwo w1 (4) AR HE

2. freifRa # © SH-W q e &1 gifod & a2
(1) ferers =1 M
(2)  heT i Tt fafafar Sdes w defed e §
(3) forerhi &R faenferi =t wmmfses-snfie geeyfa
(4) STIWE FR HE

3. foem wems @it % o) § freafafas § @ $9-9 we 9@ §2?
(a) o HHTUA YRUT FHI o HHY Toh FAC WA § HIE H ¢ |
(b) 3 Tt #1 oT=s! Te § Hie § 7eg & & |
(c) o foreror &R sfermm wfshan 1 e o
(d) o EH W@ HI giRAT S 3t €

e fou el | HEl ST =T Hw
1) (), (b), (c) &R (d) 2) (), (b) R (c)
3) (), () ¥R (d) 4)  (a), (b) 3 (d)

4. et g0 1A & fou Su=m 1 ST el It | wWiEd €
(a) =AM
(b) UREANR ToRan SA1emiid =ameas
(c) wmfEw Fr
(d) TN
H= fou H2i | T W H =TT FA :
(1) (), (b) 3R (0) 2 (@), (), () R (d)
(3) (b, () R (d) 4) (), (b) IR (d)

oo [NV TN ; Pt
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5.  Achievement tests are commonly used for the purpose of :
(1) Making selections for a specific job
(2)  Selecting candidates for a course
(3) Identifying strengths and weaknesses of learners
(4)

4)  Assessing the amount of learning after teaching

6. A good teacher is one who :
(1) gives useful information
(2) explains concepts and principles
(3) gives printed notes to students
(4) inspires students to learn

7. Which of the following statements regarding the meaning of research are correct ?

(a) Research refers to a series of systematic activity or activities undertaken to find out the
solution of a problem.

(b) It is a systematic, logical and an unbiased process wherein verification of hypothesis,
data analysis, interpretation and formation of principles can be done.

(c) Itis an intellectual enquiry or quest towards truth.
(d) It leads to enhancement of knowledge.

Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2)  (b), (c) and (d)
() (a) () and (d) 4)  (a), (b), (c) and (d)
8. A good thesis writing should involve :
(a) reduction of punctuation and grammatical errors to a minimum.
(b) careful checking of references.

(c) consistency in the way the thesis is written.
(d) a clear and well written abstract.

Select the correct answer from the codes given below :

(1) (a), (b), (c) and (d) (2)  (a), (b) and (c)
(3) (a), (b) and (d) 4)  (b), (c) and (d)
oo [N TINR ‘
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31T FAHAT i T I ¥ |

(b) TE TF Fafed, Tensh IR FToqe7 wfshan & oo afeaT &1 wiam, stisel w1 foversm,
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(d) TEE I H gig Tt 7

frefafed 2 9 w81 3T &1 =37 HINT

(1) (a), (b) W (c) (2)  (b), (c) 3R (d)
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. T TSR Y a9y e B e ©

(a) foum fog o &t iR =Fan i sTyfeat|
(b) T Ht WEHHIE® W |

(c) ¥y gy ofed ¥ frawn|

d) T R T=S1 e 9 foran gan awiw|

1= fou %l | T2 I H = HINT
(1) (@), (), () R (d) 2 (@) (b) ¥R ()
(3) (a), (b) ¥R (d) (4)  (b), () ¥R (d)
LR s
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9.  Jean Piaget gave a theory of cognitive development of humans on the basis of his :
(1) Fundamental Research (2) Applied Research

(3) Action Research (4) Evaluation Research

10. “Male and female students perform equally well in a numerical aptitude test.” This statement
indicates a :

(1) research hypothesis (2) null hypothesis

(3) directional hypothesis (4) statistical hypothesis

11. The conclusions/findings of which type of research cannot be generalized to other
situations ?

(1) Historical Research (2) Descriptive Research

(3) Experimental Research (4) Causal Comparative Research

12.  Which of the following steps are required to design a questionnaire ?
(a)  Writing primary and secondary aims of the study.
(b) Review of the current literature.
(c) Prepare a draft of questionnaire.
(d) Revision of the draft.

Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2)  (a), () and (d)
(3)  (b), (c) and (d) 4)  (a), (b), (c) and (d)
oo [N TINR :
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9. frefefad § 9 Frg STHT T o T ¥ W FoRT S g fr
(1) Hifers g™ (2) TR SEE
(3) forarHs srHHY™ (4) HHAHRA AT
10. ‘'UH HecTE Sifaemd 9heo | qE qu1 Aieen founed uw w9 yevE wd €17 a8 we e o
T forgen! 3T a1 872
(1) STIEe™ wfehed ) I IR
(3) feumcasr wftshe (4) WiEAHE IREHTA
11, Frefafas & F frg TR ¥ sEem ¥ A/ fred # o feafir & amRied 79 R
T 2
(1) e orgeem (2) ST ST
(3) IR STIHYH (4) FROTHE JoATIER AT
12. TH-TEEE! IR Fd g9 fefafed # 9 sF-9 w50 391U oM &t 1evgehdl § ?
(a) ST=EA & WU iR fodias e aw |
(b) = wife T T |
(c) TS 1 YTEY TR HEAT|
(d) WY e
1 e e @ W IR = w F
1) (@), (b) R () (2 () () R (d)
(3) (), (c) 3 (d) @ @), (), (0 R (d)
oo [LHRIARRURE AN 7
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Read the following passage carefully and answer questions 13 to 18.

Story telling is not in our genes. Neither it is an evolutionary history. It is the essence of what
makes us Human.

Human beings progress by telling stories. One event can result in a great variety of stories
being told about it. Sometimes those stories differ greatly. Which stories are picked up and repeated
and which ones are dropped and forgotten often determines how we progress. Our history,
knowledge and understanding are all the collections of the few stories that survive. This includes
the stories that we tell each other about the future. And how the future will turn out depends
partly, possibly largely, on which stories we collectively choose to believe.

Some stories are designed to spread fear and concern. This is because some story-tellers feel
that there is a need to raise some tensions. Some stories are frightening, they are like totemic
warnings : “Fail to act now and we are all doomed.” Then there are stories that indicate that all
will be fine so long as we leave everything upto a few especially able adults. Currently, this trend
is being led by those who call themselves “rational optimists”. They tend to claim that it is human
nature to compete and to succeed and also to profit at the expense of others. The rational optimists
however, do not realize how humanity has progressed overtime through amiable social networks
and how large groups work in less selfishness and in the process accommodate rich and poor, high
and low alike. This aspect in story-telling is considered by the ‘Practical Possibles’, who sit between
those who say all is fine and cheerful and be individualistic in your approach to a successful
future, and those who ordain pessimism and fear that we are doomed.

What the future holds for us is which stories we hold on to and how we act on them.

Answer the following questions :

13. Our knowledge is a collection of :
(1) all stories that we have heard during our life-time
(2) some stories that we remember
(3) a few stories that survive

(4) some important stories

14. Story telling is :

(1) an art (2) a science
(3) in our genes (4) the essence of what makes us human
oo [[IERHINRINEERI ;
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FY G ST FHEIA o = W R Fq & 1 A Anfed w9 9 fovam 2 B |

F FeTal a1 e IR T o & fore 7e st €1 e safe % o wen 9o T Hegy S
T o 3o T a1 77 1 STEE &1 TS S HEITA! oIt ©, o ST et St et € ¢ ¢ o1l e
o ot 50 ekt T € ST 1! gH o1 T U FRIAT et & SN 39 o i 3T Fohd LA ¢ foh |l
FS D1 TN AR 70 Ha Fo f9 §U T 9 e II%h! & WY SIS T | 38 999 Ig Y 37 @l g
AT FGTS S @I B i 379 STk foareh! STRIenel '’ #ed €1 o I S7e i & foh faeqdl &, T 1
3R TEU HT HIFd W A9 1 & A9 @A § | QeAlh foos! SARIER! I8 STIHd T8l w9
ISR TH-ST & HIEH § Aed 1 90 o T4 58 Jd 61 ¢ 3R hd I THE H 995 7aq @
T 1 1§ T UisR H ot SR feF vd - # 9 9 9 5 TR w § ) we-ared
39 e W ' SATeRIG el g1 faaR foRdn S ©, 7 3 @l o HET Sl AN S9N § Sl I8 hed © 16
el 3Ih-3T &, T W iR gog wfaw & fau o =raer § safaard o=t 3R 3 & st e iR
I 1 T oA €, o T8 A © [ §F Faehl WA o S |

TR 9fasd 7% ¥ % 70 ford weml o1 o1 e § 3R &0 36 W fod e 9 %™ & T

Frefatad uo=t o SO g

13. ORI IE 7 # 3 fhuea 9 €2
(1) 3 Gt werfar o g o1 Sfe w1t § g1

2) T UE FerrE 5 eH ae w1 2
(3) T FHEEl o Sifad @l 1
(4) TS T FHEAT |

14. FHMaEA AT FT?
(1) Tk el (2) Tk fom
() TARSHAHE (4) T& T I g6 A T B
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15. How the future will turn out to be, depends upon the stories ?
(1) We collectively choose to believe in
(2)  Which are repeatedly narrated
(3)  Designed to spread fear and tension
(4) Designed to make prophecy
16. Rational optimists :
(a) Look for opportunities.
(b)  Are sensible and cheerful.
(c)  Are selfishly driven.
Identify the correct answer from the codes given below :
(1) (a), (b) and (0 (2) (@) only
(3) (a) and (b) only (4) (b) and (c) only

17. Humans become less selfish when :
(1) they work in large groups (2) they listen to frightening stories

(3)  they listen to cheerful stories (4) they work in solitude

18. ‘Practical Possibles’ are the ones who :
(1) follow Midway Path (2) are doom-mongers

(3) are self-centred (4) are cheerful and carefree

19. Effectiveness of communication can be traced from which of the following ?
(a) Attitude surveys
(b) Performance records
(c) Students attendance
(d) Selection of communication channel

Select the correct answer from the codes given below :

(1) (@) (b), (c) and (d) (2)  (a), (b) and ()
(3)  (b), (c) and (d) (4) (a), (b) and (d)
oo [N IR 1
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16.

17.

18.

19.

FHEITA! o STER T AN AT HH1 BR1 2

(1) T4 9mfes €9 9 favam &1 927 &9 ¢ |
(2) S 9R-IR FE S E

() W IR T e & o fosfra wt S E )
(4)  wiferss s o fere forefird ST ¥

2
3

foaent smemaTdt
(a) ST & A H @ T
(b) HATIS IR JE & 2

() Teffda¥

(1) (a), (b) ¥R (c) (2) %I (a)

(3) 9 (a) 3R (b) (4) A (b) 3 ()

e A e 8 € o

(1) A9 ¥ && A T 2) o TUEA! FwEIfEr gAd
(3) o AR werfar gd ¥ (4) 9 THA FH F T |

‘TopaTene Sare’ 3 ¥ S
(1) TeFuR W =ed § 2) fomt 1 Fan @Sl A o 2§
(3) SATH-Hfxd B T | (4) TE AR IR B

freafefad & @ fhad TEwor 6t GTaeiicral T Udl oI ST Hehdl § ?
(a) Afvafa wefam

(b) = Froaea fwie

(c) Tomnfeai =t Sufearfa

(d) YU HIEAH R AT

T feu el ¥ T IR F1 9T HIWC

(1) (@), O), () W (d) 2 (@) (b) ¥R ()

(3)  (b), () ¥R (d) 4) (), (b) IR (d)
oo [ HERMRIATR n

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

P.T.O.



20. Assertion (A) : Formal communication tends to be fast and flexible.
Reason (R) : Formal communication is a systematic and orderly flow of information.

(1) Both (A) and (R) are correct and (R) is correct explanation of (A)

(2) Both (A) and (R) are correct, but (R) is not correct explanation of (A)
(3)  (A) is correct but, (R) is false
(4) (A) is false but, (R) is correct

21. Which of the following are the characteristic features of communication ?
(a) Communication involves exchange of ideas, facts and opinions.
(b) Communication involves both information and understanding.
() Communication is a continuous process.
(d) Communication is a circular process.
Select the correct answer from the codes given below :
(1) (a), (b) and (0 (2) (a), (b) and (d)
(3) (), (©) and (d) 4) (@), (), © and (d)

22. The term ‘grapevine’ is also known as :
(1) Downward communication (2) Informal communication

(3) Upward communication (4) Horizontal communication

23.  Which of the following is not a principle of effective communication ?
(1) Persuasive and convincing dialogue  (2) Participation of the audience

(3) One-way transfer of information (4) Strategic use of grapevine

24. In communication, the language is :
(1) The verbal code (2) Intrapersonal
(3)  The symbolic code (4) The non-verbal code

25. The next term in the series is :
2,5,9,19, 37, ?

73 75 3) 78 4) 80

1) (2)
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20. AfWeRYE (A) : 3iftoenies gEwe @fka iR wEien g ey |
qd (R) ;I T ST FE U AeEes SR Safied yaTE § |
(1) <F (A) 3R (R) T § 3R (R), (A) FT & TT=HTT |
2) A (A) IR (R) T T, TG (R), (A) FT &l TR T2 B |
(B) (A) @ T, T (R) 9 1
(4) (A) 3HE T, T (R) 94 T
21. fr=fafed & @ 9 v =t fagman § 2
(a) TEU ¥ faar, qeAl o Hdl 1 eTeH-YeH Wi ¥
(b) TEEU § g1 AR F9 SHI Wi 2
() EFIY T Had Uik B
(d) FEE TH g TR S
= fau T e 9 HE ST =T HIWC
1) (@), (b) 3R () 2 (@), (b) R (d)
(3) (b)) () 4 (@), () () ()
22, ‘JaErEd’ (Srawdr) viss feifed B 9 fhg w9 | off ST o § 2
(1) = ® SR F9OR 2) ARG FER
(3) TN FH AR HAR (4) &fas §9R
23. frefafed & @ s gurel gee o fagr @ 82
(1) vEEERl IR fovardcae® aml (2)  Fianei s aeier
(3) I T THATH =0 (4) TTETE H1 WHEITTH ITAN
24. FETOTH 97O Bl
(1) afas® Fe O RERIESED
(3) WdiwRHR F2 (4) TRafaE ge
25. 39 TGl Dl ! A& T B ?
2,5,9, 19, 37,2
1) 73 2) 75 (3) 78 (4) 80
oo AU R RT 13

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



26. In certain code MATHURA is coded as JXQEROX. The code of HOTELS will be :
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB
27. One day Prakash left home and walked 10 km towards south, turned right and walked
5 km, turned right and walked 10 km and turned left and walked 10 km. How many km will
he have to walk to reach his home straight ?
(1) 10 (2) 20 3) 15 4) 30
28. A girl introduced a boy as the son of the daughter of the father of her uncle. The boy is
related to the girl as :
(1) Brother (2) Uncle (3) Nephew (4) Son
29. In an examination 10,000 students appeared. The result revealed the number of students
who have :
passed in all five subjects = 5583
passed in three subjects only = 1400
passed in two subjects only = 1200
passed in one subject only = 735
failed in English only = 75
failed in Physics only E 145
failed in Chemistry only = 140
failed in Mathematics only = 200
failed in Bio-science only = 157
The number of students passed in at least four subjects is :
(1) 6300 (2) 6900 (3) 7300 (4) 7900
30. At present a person is 4 times older than his son and is 3 years older than his wife. After
3 years the age of the son will be 15 years. The age of the person’s wife after 5 years will
be :
(1) 42 (2) 48 (3) 45 (4) 50
31. If we want to seek new knowledge of facts about the world, we must rely on reason of the
type :
(1) Inductive (2) Deductive (3) Demonstrative (4) Physiological
oo [LIRFRIRNAAL MR 1
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26. f&dt #ie  MATHURA i JXQEROX f7&fa a1 €, HOTELS foas gr f&fua &ar €2
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB
27. U T WeRTe1 =R @ a1 © @R <feror § 10 fop A, wrern €, < gear € R 5 feR AL =reran §, i g
7 3R 10 for.#. wreran & iR o qeaht 10 .1, wretar 81 ¥ o799 =R ug=m & fore <8 fora fo .
T T ?
(1) 10 2) 20 3) 15 4) 30
28. TH ASH! 1 Uk ASH 1 U= fean fo a8 3w sihat & fodn &t 9t &1 A< €, @ TASH! 1 ASH
9 fed gan ?
1) o (2) 3wd (3) ST (4) &
29. T& W& H 10,000 foreneff 931 wian wat =ifod g1 W fownfE 1 €@ 39 TER ©
it =t Tl ® Thet B aTell shi G = 5583
1 fawel 5 gwat 29 Al 5t g = 1400
3 fowai o 9%a 1 arel st SE = 1200
e fawa § gwa g9 ol 1 He = 735
FIA SIS fawa H T9we g arell Sl & = 75
Faa Adifasw fava § rawa 8 9Tl i ge = 145
Had WA fawa § ST 9%a g ardl i Sl = 140
Had T fawa § STwa B ATl i §e = 200
had St foaa fooa § ST9ha 8 Tl i 9& = 157
%A ¥ 4 =R fawal § e 2 9 foranfefe 1 e g
(1) 6300 (2) 6900 (3) 7300 (4) 7900
30. oA H Uw SAfH 3T o ¥ TR A oSl § SR ST Tt ¥ 3 WAt 991 ], 3 WA & oS 3Hb 9 Fi
31 15 9T B ST | 39 SAfHT i Tedl ohi ST 5 9T o1 fehaet it 2
(1) 42 (2) 48 (3) 45 4) 50
31. afc &w fava & IR H qeai &l 8 SIMeRI UTH i i SR &L q 74 § 9 e YR &1 aeh-vf
T AT &Y ?
(1) STHATCHS 2) TS (3) YSRAACHE (4) TR fom wt
oo [N MO AVREDER 1 Pro.
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32. A deductive argument is invalid if :
Its premises and conclusions are all false

)

2) Its premises are true but its conclusion is false
) Its premises are false but its conclusion is true
)

Its premises and conclusions are all true

33. Inductive reasoning is grounded on :
(1) Integrity of nature (2)  Unity of nature

(3)  Uniformity of nature (4) Harmony of nature

34. Among the following statements two are contradictory to each other. Select the correct code
that represents them :

Statements :

(a) All poets are philosophers.

(b) Some poets are philosophers.

(c) Some poets are not philosophers.

(d) No philosopher is a poet.

Codes :

(1) @and(®) (2 @andd  (G) @and( (4 (b)and ()

35. Which of the codes given below contains only the correct statements ? Select the code :
Statements :
(a) Venn diagram represents the arguments graphically.
(b) Venn diagram can enhance our understanding.
(c) Venn diagram may be called valid or invalid.

(d) Venn diagram is clear method of notation.

Codes :
(1) (a), (b) and (c) (2) (a), (b) and (d)
(3)  (b), (c) and (d) 4) (a), (¢) and (d)

36. When the purpose of a definition is to explain the use or to eliminate ambiguity the definition
is called :

Stipulative Theoretical (3) Lexical (4) Persuasive
Ao ||||“IIHII“II!I\|||HH|||H|H I H\II\IIHII\II\II\HIHIII!HHII 1
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32. U RIS qoh o1y 2 § A
(1) 9% STER a1 iR frewd |eft ere )
(2) TEF YR 9T ¥cd W FreRd o ¥
(3) TUF MR AT A g Frd T ¥
(4) TEF YR I AR Frewd gt w1

33. SITHATHS qeh =it § § forg o smenfia &2
(1) wFfa = sTEvsd (2) T F THE@
(3) URfd H FHEYA (4) IHd T FHE

34. frfafad woAl 3 9 3 Th-q@ & foriel €1 W2 e =37 R S HE SW K1 yfafarae w0

ot Ffa it 2 2|
FD Hfa RIS A 2|

©) TS Hd iR T
d) % ot Tt wfa 7 g

(1) (a) &R (b) 2) (a) AR (d) 3) (@) &R (o) (4)  (b) &R (o)
35. 9 fe3 T % # | frad Faa W@ wed wifas g2

o9 @ T ! MG 9 § YSIq HLal ¢ |
7 NG BRI HASA 1 ¢ Hehell & |

(c) o 3@ 1 A4 12l YA hel ST Gehll T
(d) I AN Fha-TEHd F T T T

@‘d‘:
(1) (@), (b) 3N (c) 2)  (a), (b) ¥R (d)
(3) (b, (0) R (d) 4) (@) () 3 (d)

36. ST9 GRTT 1 LTI SUANT hI TIRL FHTAT AT ETA AU I T FHA Bl & A E gRam
FEAm §

(1) STIIHcHS 2) Fgif<®w (3) mfsqeh (4) TATHRR

oo [N TINN 1 riro.
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Question numbers 37 to 42 are based on the tabulated data given below :

A company has 20 employees with their age (in years) and salary (in thousand rupees per month)
mentioned against each of them :

Age Salary Age Salary
S.No. | .. (in thousand rupees S.No. | .. (in thousand rupees
(in years) (in years)
per month) per month)
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50
37. C(lassify the data of age of each employee in class interval of 5 years. Which class interval of

5 years has the maximum average salary ?
(1) 35 -40 years (2) 40 - 45 years (3) 45 - 50 years (4) 50 - 55 years

38. What is the frequency (%) in the class interval of 30 - 35 years ?
(1) 20% (2) 25% (3) 30% (4) 35%
39. What is the average age of the employees ?
(1) 40.3 years (2) 38.6 years (3) 47.2 years (4) 453 years
40. What is the fraction (%) of employees getting salary = 40,000 per month ?
(1) 45% (2) 50% 3) 35% 4) 32%
41. What is the average salary (in thousand per month) in the age group 40 - 50 years ?
(1) 35 (2) 425 (3) 40.5 (4) 36.5
42. What is the fraction of employees getting salary less than the average salary of all the
employees ?
(1) 45% (2) 50% (3) 55% 4) 47%
oo [LIRFRIRNAAL MR 1
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U9 HE&AT 37 ¥ 42 9 9 fed T aeiterd ST UR SMeiE |
T HA H 20 FHER &1 ITh1 39 (6 #) 3R a7 (9fq 918 evR 303 #) =9 feon T

wHH - a wHE. - a
| (aetd) | (uf e e v #) | (wtE) | (vft TR wTE )
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4, 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50
37. Y% HUAN Tl 3H o SThe &I 5 T8 % ST o af H afpd Hi | fhE 7 a0 ¥ Afeehan

e o yefeid &2
(1) 35-407 (2) 40 - 45 94 (3) 45-50 9 (4) 50-559d

38. 30-3599f % o ST H A (%) FE?
1) 20% @) 25% (3) 30% (4) 35%

39. FHHHE it 3{Hd Y FME?
(1) 403 a4 (2) 38.6 a4 (3) 47294 (4) 453 94

40. wHEIRAT *1 fhaT 9 (%) 9fd W® = 40,000 I YH FI W7 ?
(1) 45% 2) 50% 3) 35% 4) 32%

41. 40-50 T % T1g ¥ § 3fgq Iaq (9fd A1 TR T H) fohan 82
(1) 35 2) 425 (3) 405 (4) 36.5

42, FHYIE H1 foha 90 Fo HHARE F AT I ¥ FH IdA oAl © 2
(1) 45% 2) 50% (3) 55% 4) 47%

oo [N TINN 1 riro.
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43. Encoding or scrambling data for transmission across a network is known as :
(1) Protection (2) Detection (3) Encryption (4) Decryption

44. Which of the following is not an output device ?
(1) Printer (2) Speaker (3)  Monitor (4) Keyboard

45. Which of the following represents one billion characters ?
(1) Kilobyte (2) Megabyte (3) Gigabyte (4) Terabyte

46. Which of the following is not open source software ?
(1) Internet explorer (2) Fedora Linux
(3)  Open office (4) Apache HTTP server

47. Which one of the following represents the binary equivalent of the decimal number 25 ?
(1) 10101 (2) 01101 (3) 11001 (4) 11011

48. Which is an instant messenger that is used for chatting ?
(1) Altavista (2) MAC (3) Microsoft Office (4) Google Talk

49. In which of the countries per capita use of water is maximum ?
(1) USA (2) European Union
(3) China (4) India

50. India’s contribution to total global carbon dioxide emissions is about :
(1 ~3% (2) ~6% 3) ~10% 4) ~15%

51. Two earthquakes A and B happen to be of magnitude 5 and 6 respectively on Richter Scale.
The ratio of the energies released Eg/E, will be approximately :

1) ~8 2) ~16 3) ~32 4) ~ 64

52.  Which of the following combinations represent renewable natural resources ?
(1) Fertile soil, fresh water and natural gas
(2)
(3) Fishes, fertile soil and fresh water
(4) Oil, forests and tides

Clean air, phosphates and biological diversity

53. In the recently launched Air Quality Index in India, which of the following pollutants is not

included ?

(1) Carbon monoxide (2) Fine particulate matter

(3) Ozone (4) Chlorofluorocarbons
oo [N IR 2
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43. g% F AR-UR YA F fAU STl w1 Feag HAT A1 TSHS HIAT FI1 HEA ¢ 2
(1) g (2)  STETHA (3) ISR 4) T
44, Trafafea § @ s@-dt frig gfa 7@ 22
1) fI= (2) EeHRT (3) HiHX (4) HI-9E
45. Trfafed § § *F-9 ©& oRa 3181 1 yfaffaa w3t €2
(1) fedrEme (2) HETES (3) firmemge (4) <T@
46. Trfafed & & &1 e @iq TTRaR T8 € 7
(1) FeTRe TR 2) HER AT
(3) e SR (4) @M TE A Al wR
47. Trafafed & & #H-H gemes 9@ 25 &1 e game (e sfce) €2
(1) 10101 (2) 01101 (3) 11001 (4) 11011
48. 9add (AfeT) & forw sH-w1 38 HHSR Y =il © 2
(1) Ieefael 2) THTH (3) UEHME AT (4) T Ak
49. foa 3w A ufa =afs sia1 s sifeream &2
(1) ZWET (2) W g () = (4) WRd
50. Fd AT FHET SEAFIRCE Scasl § TRA HT AN T fohan € 2
1) ~3% 2) ~6% (B) ~10% @) ~15%
51. T Y&9 A IR B Rl @hd W HHAM: 5 3R 6 TRAT0T & M| A Seiisti 1 STIA T
(Ep/E ) fefer grm 2
1 ~8 2) ~16 (B) ~32 4) ~64
52. frefafed # @S- G TdTe0Ma UIehiae SEIEE Jehe T © 2
(1) 3R eI, I Sa AR Yipfask 19
(2) TS 91, Wiehed RS9 fafaear
(3) wsfaal 3ok gar i s wia
(4) T, T9 IR SR
53. 9RA H g & H yney fR3 13 9y e gaeies H, fEfated § @ s ygue aftufad @ e
?
?;T% CACE RIS (2) Heu fafas (Wfiéarqete) aem
(3) N (4) FARTRHEH
oo [N MO AVREDER 2 Pro.
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54. The factors which are most important in determining the impact of anthropogenic activities
on environment are :

(1) Population, affluence per person, land available per person

(2) Population, affluence per person and the technology used for exploiting resources
(3) Atmospheric conditions, population and forest cover
(4) Population, forest cover and land available per person

55. The session of the parliament is summoned by :
(1) The President
(2) The Prime Minister
(3) The Speaker of the Lok Sabha
(4) The Speaker of the Lok Sabha and the Chairman of the Rajya Sabha

56. Civil Service Day is celebrated in India on :
(1) 215t April (2) 24th April (3) 215 June 4) 7% July

57. The South Asia University is situated in the city of :
(1) Colombo (2) Dhaka (3) New Delhi (4) Kathmandu

58. The University Grants Commission was established with which of the following aims ?
(a) Promotion of research and development in higher education
(b) Identifying and sustaining institutions of potential learning
(c) Capacity building of teachers
(d) Providing autonomy to each and every higher educational institution in India
Select the correct answer from the codes given below :
(1) (), (b), (0) and (d) (2) (@), (b) and (©)
(3) () (c) and (d) (4) (), (b) and (d)

59. The Gross Enrolment Ratio (GER) in institutions of higher education in India at present (2015)
is about :

(1) 8 percent (2) 12 percent (3) 19 percent (4) 23 percent

60. The total number of central universities in India in April 2015 was :
(1) o8 (2) 14 3 27 (4) 43

-00o0-

oo [N IR 2
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54.

55.

56.

57.

58.

59.

60.

el W ARy st #1 guE fuifa & § :iA wRe gaiftus qeeyu ¢ 2
(1) SEeE, 9id =fed ggadl, id Safed JfH Suereud

(2) EE, yfd Afa ueEd iR HarEl F1 Qed w3 & T ST wt S aret Gt
(3) THew feufqar, SHEEn iR TR
)

3
(4) SEE, TSR iR Ui S ft SueTee

O &1 ¥ feifRa § | foreeh g0 o1 e Sman & 2
(1) Tgafa

(2) ggEH

(3) ARG H TR

(4) ARG T TR T TSHGHT T UL

Ra # fafaa wfd feas 7w s €
(1) 21 A H (2) 24 3TUA HI (3) 2153 & (4) 7 S[TE I

T gy ufvren Yfrafd frifea ¥ @ frw wee # srafeeq 772
(1) i (2) @RI (@) s food (4) HISHITE

foreafaanera oM oM i fifRd | ¥ o 3|l o o wfead o = an?
(a) STIEUM & A AR 3= fnan o foasmd & fag

(b) HWEARIA SATETH dTel TEAH Hi 959 Td 3¢ 36 €9 H A€ W & fag
(c) Toareni =1 e faiom

(d) 9Rd HI 3 a7 & F TAh GEA Sl TWETA YSH & & g
TR e 1 TEHA § Hal IW H 947 HITWT

(1) (), (), () 3R (d) 2 (@), (b) IR ()

(3) (b), (0) ¥R () 4) (a), (b) 3 (d)

AUH (2015) § 9RA &1 3= Foraqor Geensli § HWehel AR ST (GER) ST 941 7 ?
(1) 9me (8) Ufem  (2) 9RE (12) ¥favm™ (3) =0« (19) Ufaw (4) ds9 (23) gfaem@

IS 2015 H 9RA § FA =g fovafoaed 9
(1) 08 2) 14 3) 27 4) 43
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